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O 2sta=24 22,500
- N2A Y 828X X
70,0002 * 1502+ A 10,500
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01 AtR2telH| 37,000 37,000
O Lsta=24H| 33,500
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O S| 3,500
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O 2222 2 MA 99,000
- NSXHALFOM A2 DXAN RER
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- AN EII20XNAN SREYSRS
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202 O] 6,000 6,000
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O LeragH| 12,000
- JBAREES Y 500,002 * 128 6,000
- 424 22 S 500,000% * 122 6,000
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O gurg| 500
- SAYX BX EX ME
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O 2zl 6,300
- ZXNYREX
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202 01l 8,400 0 8,400
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JEEEEEYE 10,500 0 10,500
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O J28Z FHIEE 5,000,008 * 14! 5,000
405 THeHE S 25,500 25,500
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S E2 SASY ZE(NETR AYSAD) 327,560 0 327,560
SASXB2 &5 327,560 0 327,560
tzse o el 221,810 0 221,810
201 Ygr2g| 5,000 0 5,000
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150,000,000 * 14l 150,000
405 KHAHE S 1,800 0 1,800
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01 Al&H] 76,400 76,400
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01 QIZHX=2EXR 10,000 10,000
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O AFZX SHEZAHE
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1702 * 5,000 850
O S 10,710
- ERURERZ A
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- E22E43 Hola s2e(Hel S
) 2,000,0008 = 14 2,000
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O Z2eH (A 25,000 = 250m 6,250
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SN NP ALDSD
HE: S22 S5 Y He(NER ALDSD)
o9l 218 S2FY (51 &2

_ _ _ Muo
M- E3H S (3H) - MRAY - BES At ol Ofl At ot Hws2
O LAY DI (BES)
4002 * 10,0004 4,000
O C2oiE AZ24 S(0tA2)
56,0008 * 600E 33,600
O =M 90,0009 * 108tA 900
O E2248 IR 30,0008 * 10Z * 103 3,000
401 A&HIL2HY] 20,000 20,000
01 A& 20,000 20,000
O SEELAl MG HOIS M2l (5ot
A3) 100,000 * 200E 20,000
405 XtabE S| 81,200 81,200
01 KaYLESEFSH] 81,200 81,200
O SEIN(NERYE) 600,0002 * 2CH 1,200
O H& =Yg &ZI|(2H)
40,000,0008 * 2CH 80,000
ZANEE 22 984,300 984,300
201 Yer2y| 41,700 41,700
02 =2z 41,700 41,700
O B2B22 2 HA 33,700
- XEtE ¥ s 22
2,500,0008 * 12 30,000
- SNOUED MIIRB(ZLIUNZS)
600,0008 * 122 7,200
- SNOIEm CCTVS Al 125,0002x 12 1,500
O AZEHIKRXII 3,000
- SHED e 250,0008 * 122 3,000
202 Ol 9,600 9,600
01 =UioTd] 9,600 9,600
O CR2H U TRAEE = HA
20,0009 * 491 x 102 * 12 9,600
307 ©I2r0IH 50,000 50,000
05 BIZHRIES 50,000 50,000
O ANSE HUM2A o 11HRY NYE
2 50,000,0008 * 14l 50,000
401 AN&HIL2HY] 883,000 883,000
01 Al&H 880,000 830,000
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A AS7 AE0EN
M 2 HE Y H2(MSF HLEWNEM)
©Hel 2g =23 (e &
_ _ PofE =
A -3 -2 (3H) - NRAY - BEZ e Oj/'\_;ou Hlw &2
O STH2ue Hneg B2
330,000,000 14! 330,000
O Hatg A2 MIESAH ==/ n
) 470,000,000 * 14 470,000
O sHEE2 EXE &yl
3,000,000& * 109H 4 30,000
O E2ANE=E B2 50,000,000& = 1A 50,000
03 AlEZ=0Hd] 3,000 3,000
O EZECAEdE & wE B84 S
3,000,000& = 14 3,000
SEEE 2 FHul 414,000 414,000
401 Al &HIZL20HYI 414,000 414,000
01 A&l 410,000 410,000
O M2ALSXIL =28 WH (L=500m,B=
3m) 50,000,000& = 1A 50,000
O Ui&5e2l o1& 4 X[ (L=500m,B=2m)
90,000,000& = 14 90,000
O AN=E7 22U OtA2EE
200,000,000 * 14 200,000
O AFZ XNEINLAMY =X
70,000,000 = 14 70,000
03 AlEZ=0Hd] 4,000 4,000
O ANE7 2L O AZZEAMNY S
4,000,000& = 14 4,000
SZ3Hl X3 400,000 400,000
& 160,000
Al 240,000
401 Al &BIZ20HYI 400,000 400,000
& 160,000
Al 240,000
01 A&l 400,000 400,000
O 8318 8= (A)~AE8UZ2AHel =23
]l 250,000,000& * 14 250,000
& 100,000
Al 150,000
O 8gzd 4 Xote B
75,000,000& * 14 75,000
= 30,000
Al 45,000
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FA AE7 ALUSH
g 2% &5 9 A2(MST ALnSH)
©Hel 2g =23 (Ste &)
_ _ _ AT
SA - ZH - S2A(AH) - NFAE - BES Off & 2K Ol Ak OH Blus
O HAS~-SEIOHIE =2 & Y|
75,000,000& = 14] 75,000
S 30,000
Al 45,000
ANMTZA BEINNEFR LS 91,474 0 91,474
AT ol e 62,806 0 62,806
Hetobd olg & HSHMA =HE 11,520 0 11,520
201 LetEdE] 4,320 0 4,320
01 AtR2tclH] 4,320 0 4,320
O det+=gHl 1,800
- HMFH & WA BEES
300,000& * 63 1,800
O =gl 2,520
- WHERFE =S4
7,0008 = 321 « 10€ « 12 2,520
202 04l 7,200 0 7,200
01 2UWodl 7,200 0 7,200
O Hoge =4
20,000& * 31 = 10& * 122 7,200
AATH g 2 TS+ 51,286 0 51,286
101 el 5,236 0 5,236
10 JIZHMZENSES 5,236 0 5,236
O S=of Z2Alg 34,0008 * 2201  7& 5,236
201 2EtEgH 28,700 0 28,700
01 Ars2teldl 21,980 0 21,980
O &gt+=EH 5,140
- Mo SroE2E S22
1,500,000& = 23 3,000
- 250/ AR EE2S
1,000,000& = 12 1,000
- Hi=EZE M| otd e RSS2
95,000% * 1HA * 128 1,140
O =gl 840
- WoHH 22X 24
7,000& = 3¢l = 40 840
O gxt=z 16,000
- Wohi s s3=57 s34l
400,000 = 84 * 53 16,000
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D NER AMDSD
D OFEAl BISI(HET AA
LRI Ol

wE)

_ _ _ Muo
A B8 C9(33) - HRAY - BY= Ao il b on B2
T 6,720 5,720
O 2222 ¢ HA 6,720
- OIS BIEE FIIQ3
80,0002 * 7944 * 122 6,720
206 Tl 14,800 14,800
01 M=ol 14,800 14,800
O THAHCHE S 42T 14,200
- PPOICH 2002 * 20,0000 4,000
- B4 =20 4,6002 * 50004 2,300
- S0t 15,0002 * 10004 1,500
- PELS 28,0002 * 502 1,400
- F2gy 22,0002 * 1502 3,300
- THtorE M 34,0008 * 508 1,700
O OFZroHY ThTIZ7) 10,0002 * 6024 600
405 THEFH S 2,550 2,550
01 TMUSEFSY) 2,550 2,550
O +52H 600,0002 * 4CH 2,400
O FzE 10,0008 * 15CH 150
DIgrel 29 2 A Y 28,668 0 28,668
ERIETE ISVER=T 3 ) 28,668 0 28,668
201 Ypr2gy| 14,890 0 14,890
01 AtR2relt] 5,490 0 5,490
O Yersg| 3,600
- QLRI HAT K
1002 * 20,0000} 2,000
- oYSDS, UM
5,00020 * 2005 1,000
- NEEY 222
10,0002 * 34 * 23] 600
O Szl 1,890
- QYRR ET 7,0008 * 391 * 902 1,890
02 ZZ=2YY 9,400 9,400
O 2223 % WA 4,500
- HlAEAAE F@II23
10,0008 * 122 1,200
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SN HED ALDSD
HE: OFC A BEI|(NEP ALDED)
Sl DIl 2 9 HIAHY (29l &8)
_ _ _ Muo
SA - SRAEA) - MM - BES Off & K Ol At oH HusZ
- QERNSSIN PERS
3302 * 10,0009! 3,300
O AN&ZH 28 4,900
- HIAZAAE 400,008 * 14 400
- HIABAAE 223 Fa
500,008 * 9H 2 4,500
206 TEHl 2,778 0 2,778
T 2,778 0 2,778
O +HZAE H4S  1,5008 = 134 * 43 78
O eILIDSE JIX 2,700
SES-5] 20,0002 * 5074 1,000
- BIERIDt2 )] 6,0002 * 2007H 1,200
- Pxg=2o 5,000 * 1007 500
401 AI&HIL = O] 6,000 0 6,000
01 Al 6.000 0 6.000
O HlaZs ZHEA(HOIME)
3.000,0008 * 2)H4 6.000
405 TH&HE S 5,000 0 5,000
01 KaYLSEFSH] 5,000 0 5,000
O plereIE+FH| 500,008 * 105 5,000
HZS YA (=D AEDSD) 232,444 0 232,444
] 210,604 0 210,604
o=t e g 210,604 0 210,604
101 Q12| 183,004 0 183,004
2 2 183,004 0 183,004
O AZtel22sy
7,457 % 6TAIZH « 382! 128 * 0.75 70,870
O gea24+y
56, 1758 * 621 + 32 * 128 12,134
203 PRFIH| 4,200 0 4,200
04 SNSYLRETY| 4,200 0 4,200
O N=7 A4DED(30210/5})
350,000% * 122 4,200
204 HRLBAY] 23,400 0 23,400
IIEEEEEESEL 1,200 0 1,200
O % 100,002 * 191 128 1,200
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2N HET ALDED
B HHSAAL (M= HEDSD)

ciel: olsEan CLEL
FAH-FH - SAEAH) - NRAIE - BES Ofl &K dd T BlusZ
03 SRS SH 22,200 0 22,200
O tergstl 50,000& * 3721 = 12& 22,200
Jl2&Hl 21,840 0 21,840
Jl=2&H| 21,840 0 21,840
201 BH2IH] 18,280 0 18,280
01 AtER2teldl 18,280 18,280
LBk~ ZH| 10,200
- ZetZ ey 200,000& = 12& 2,400
- HFADSE 500,000& = 123 6,000
-EA 2
15,000& = 108 * 12& 1,800
=&l 2,800
- QY
7,000& * 421 » 100 2,800
Axt= 5,280
===yl 110,0002 = 2CH = 12& 2,640
-OXNEg = 220,000& * 1CH = 12& 2,640
405 KHaHFE S| 3,560 3,560
AL =S FSHI 3,560 3,560
O MM 1,000,000& = 1CH 1,000
O mtelA 1,500,000& * 14l 1,500
O ABEAD] 400,000& * 1CH 400
O dz=J| 160,000& = 1CH 160
O Ols=2(dl ) 500,000& * 1CH 500
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SH: N2 SAASD
Hu: QYNNG TATE (M2 CAASD
ol AS IOl st (51 &2
_ _ _ Muo
SNBSS - MRAY - BAS 0 & o4 e HIRZE2
A= TAAED 1,781,950 0 1,781,950
DIAKIE SAZE(NER SAASD) 1,622,425 0 1,622,425
A=Yl Al 5 57,620 0 57,620
A=A B 2l 55,620 0 55,620
201 Ler2 | 31,820 0 31,820
01 ARl 31,820 0 31,820
O Yersgt| 29,020
- YUARERE 300,0002! * 83| 2,400
- ASSHF BSAUFNA
2,6002 * 1102 * 128 3,432
- ASSHF ARLIEX
20,0002 * 152 A + 128 3,600
- AESOE BT ¥ AX
12,0002 * 302 * 122 4,320
- ASSHE 23 5,268
e 150,000 * 143 2,100
JESINCIE 17,6002 * 554 968
=PI 20,0002 * 1004 2,200
- ABA Y20 242
20,0002 * 5008 10,000
O 2zl 2,800
SR ABSHE MY S YRFT 2
N 7,0008 * 491 * 1002 2,800
202 oft 7,800 0 7,800
01 =UHolb 7,800 0 7,800
O ASSHZ(BABY BT, MBS
Xltol 20,0008 * 39! * 702 4,200
O ASSUHE AL ST 20l
20,0002 * 39! * 602 3,600
405 XarE S 16,000 0 16,000
01 KALSEFHSH] 16,000 0 16,000
O g28&I|(ASSUZ S KstAD)
8,000,0002 * 2Cf 16,000
EUAESAHLES 2,000 0 2,000
201 Ysr2gy| 2,000 0 2,000
01 At 22l 2,000 0 2,000
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SH: N2 SAASD
Hu: QYNNG TATE (M2 CAASD
CHol: A= H Ol Als) (51 &2
5 I SIEN
SA - SRAEA) - MM - BES Ofl &K Ofl At ot Hws2
O gurg| 2,000
- SHASEZS NGTHS 222 ME
500,008 * 43| 2,000
SRS NTHETY 102,220 0 102,220
zoze 69,220 0 69,220
201 Lur2y| 22,500 0 22,500
T 22,500 0 22,500
O AN&FHIRI 22,500
- HAUHAD B 3,500,000% * 54 17,500
- HEINAT B4 1,000,0002 * 5} 5,000
202 Ofl 6,720 0 6,720
01 =0l 6,720 0 6,720
O sHzns oz
20,0002 * 491 * 7Y * 122 6,720
401 AlSHIL O] 40,000 0 40,000
01 Al&H] 40,000 0 40,000
O SLUHAY &3 15,000,008 * 244 30,000
O BAMAID X HEAAIR O
5,000,008 * 274 A 10,000
=L RN 33,000 0 33,000
201 Ler2y| 28,000 0 28,000
01 At 22l 12,900 0 12,900
O Yurg| 6,400
- EYZDE HADAEH NN
5002 * 10,000% 5,000
- S9ZDE NEM MA
10,0008 * 7% * 202 1,400
O 2zl 3,500
- EUZDE 0F2 L BY HERAZA
7,008 * 521 * 1002 3,500
O gxiz 3,000
- 2HZNS BN U XY
300,000% * 102 3,000
02 ZZ=2YY 15, 100 0 15,100
O 2223 ¥ MA 1,100
- swEne £ HIIZ Ml
10,0008 * 10074 10,000
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2N HETR ZAAED
M QNE TATE (M2 SAASD
el 2M2DE NSHEEY (9l &8

_ _ SIEN
SN CRI(SH) - NIRA - BES 0l & 24 e HRE2
- NsSIHM S 500,000& = 14 500
- Nsi B2 600,000& = 1CH 600
O XtEae] 4,000
- AEXHFFUI(1H) 4,000,000& = 14 4,000
206 H=Hl 4,000 0 4,000
01 MZHl 4,000 0 4,000
O sg&ins 34l 100,000& * 5& * 83l 4,000
301 Lptsazg 1,000 0 1,000
12 JIEI24A3 1,000 0 1,000
O =gz =H84 100& * 10,0000H 1,000
EX0IEAE =8 - 2L 20,405 0 20,405
ZEO0IEHE Mot A 25 2Y 5,525 0 5,525
201 ZEH2IH] 5,525 0 5,525
01 ArR2teld 5,525 0 5,525
O get=ZH| 5,525
- o1sd|ele 17,6002 * 5000 * 2J0 & 1,760
- 98I €3 HOIZ
27,500 * 33| * 2044 165
- ENOISHEHOAYTE FYSDL
EH(2I2A) 1,500,000& = 10K 1,500
- EXOCIZEAHE A YSAENHA
702 = 30,000% 2,100
SAHE 22 14,880 0 14,880
201 Lt 3| 9,680 0 9,680
01 ArR2teld 9,680 0 9,680
O get==ZH| 8,000
- HRASAIZCIHE ALEE2E A230S
1,000,000& * 2JHAL * 43 8,000
O =gt 1,680
- N2 AE = FHSA
7,000& = 201 « 120 1,680
202 O4dl 5,200 0 5,200
01 SLUAbI 5,200 0 5,200
O RSN LY 22
20,000& * 20! » 130 5,200
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NS DAIZED
o Ol Xet

CAZE(NET SA
©etlotl g2el &4

-

A=)

S HE . O (B H) - MEAY - B oH &EIE Hn=2
- o=\ I T ° - = il e = 0:”/.:"% Lsa
ot gr22el =4 1,442,180 1,442,180
2225 |X2 1,360,290 1,360,290
201 L3 547,490 547,490
01 AtS2teldl 1,890 1,890
O =&l 1,890
- JI28 MEAMY FA
7,000& = 321 = 90 1,890
02 =294l 545,600 545,600
O s32= % HA 540,600
- JI2(8oH S I3
45,000,000& * 123 540,000
- DAXNAT NHSIM & BE8=
600,000& * 14 600
O Xtgkaetd] 5,000
- DAXAIL 5,000,000& = 1CH 5,000
202 Oidl 4,800 4,800
01 =Wobl 4,800 4,800
O Jz2(Beh)s | FZ
20,000& * 32! » 80 4,800
401 Al&HIZL20HYI 808,000 808,000
01 A&l 805,000 805,000
O JItz=(2oh) s FANES HIOAHS
70,000& * 10,000= 700,000
O Jt2(Beh) s mteas=?
2,000,000 * 3002 60,000
O JI2(BehHsE &8l 5
1,500,000& * 3004 A 45,000
03 AIZ=0Hl 3,000 3,000
O H2(8ehHs | =X
3,000,000& = 14 3,000
25 A& ALY 81,890 81,890
201 LBHEHH| 1,890 1,890
01 At=2teldl 1,890 1,890
O =&l 1,890
- JI2S MEAY =&
7,000& * 32! » 90 1,890
401 A&HIZ2C0HYI 80,000 80,000
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AN A= SAIZED
HH: 0liXE SAZE (M= SAASD)

ol otEGHD Et2Hel =4 (o=
=] % o| (= =] ik In_-“r;:'_“:_ =
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2

01 Al&HI 80,000 0 80,000

O XM XNSsXD 2Bt X
1

,500,000& = 40= 60,000

2,000,0002! * 10= 20,000
Feiae) 12,340 0 12,340
FHEANA 12,340 0 12,340
SEZNSAMLAIY 8,280 0 8,280
201 YpreHy| 3,780 0 3,780
01 Al=2elHl 3,780 0 3,780
O = 3,780
- SEFNSAWLAY =T
7,000 * 39! * 153 * 122 3,780
202 OfH| 4,500 0 4,500
01 =001l 4,500 0 4,500
O SEFNHSANLAY 7
50,0002 * 30! * 30 4,500
CleanOt I EB+S D) 4,060 0 4,060
201 Ler2%| 4,060 0 4,060
01 At=2elHl 4,060 0 4,060
O e+ 3,500

- SSFH2AC LT U= HE

14,0008 * 2502 = 12 3,500
O 2d+¢ 560

- BEFYPANDE LS

70,000 * 821 * 12 560
HH2IZH(MEF SAAZED 147,185 0 147,185
I 2 118,125 0 118,125
eI 23| 118,125 0 118,125
101 1A 98,925 0 98,925
02 =¢& 98,925 0 98,925
O A2t 22x=4
7,4573 * 67AI2tx 2201 « 128 * 0.75 98,925
203 YR=&H| 4,200 0 4,200
04 BEASELRFIH 4,200 0 4,200
O M=7 SAIZAS1H(302!0lI5t)
350,000 = 12 4,200
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SN M2 CAAED
B HHSAAL(NED CAAED)
ch9l: o2 2oyl (S5 @)
- _ - HUE &
CHH L CR(BI) - MRAY - BES Ak o Gil it o 2t
S L 15,000 15,000
SEEEPSETE 1,200 1,200
O & 100,0002 = 191 = 122 1,200
e EEER R 13,800 13,800
O telgsyl 50,0002 + 2301 * 128 3,800
29,060 0 29,060
=2l 29,060 0 29,060
2 8r2 oyl 28,440 0 28,440
NEEEIT 28,440 0 28,440
SRR 6,000
- 2ASX S BIALES
500,0008 * 122 6,000
%t 22,440
- Oxg=a)) 220,0008 * 204 * 122 5,280
- 2 e 0l M T RIE
330,0002! * 3CH * 122 1,880
- S0l M T RIE
10,0002 * 4CH * 122 5,280
01 YeRA3 300 0 300
12 JIEPAa 300 0 300
O =28 BBAUIAN e 24
5,0002 * 603 300
405 RarFE S 320 0 320
01 RMULSEHSH] 320 0 320
O w4 60,0002 * 204 320
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